DInLe

Installation and Operating Instructions / 2234 i BA

Installation and Operating Instructions
Z= ¥ # B i B

Version 2022.1

Pole-top luminaires / #FI5TT

BALI

The right is reserved to change specifications without prior notification or public announcement. 10f3

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

9 251 01 xx Bali S

[=——300—

D560

2oV | cloe ©
riov o Rt (@) CE Pes | i

—+@560——-—

=—@400—|

2140
% 4-924°48
0

—+200-4=—

2
3

——+200—+—

1
3

"_T

Important Information /| EE{EE

shall be subject to national and international regulations.

DMK FRAIEAEF E R L AT ATER IR ERER T
ARTERERRMAGRAZENEZEN DMK RIGHI= M0
FiEAENANBTMEEE, BABITEM, BHUZYHE,

5. If in doubt, please contact the supplier.

mAEREE, HEHMEHEKR,

1. The installation and maintenance of the product can only use the original parts, and the installation and operation of the equipment
AFERREMEP TIERRERE B, EENREMREERATERMEREN,

2. DMK is not liable for any damages resulting from improper or unskilled conduct.

3. Only qualified installation personnel are allowed to assemble and install products obtained from the DMK.

4. The contents of this manual are subject to change without prior notice. Please refer to the material in kind.

Toolings / TH

TFIELT] 4mm HRAIRF

T o

=R 30mm FORF

Recommended Installation Procedure / #F R idi2

1. Fix the fixture on the embedded part with M20 nut and g 20mm

flat pad.
A (M20 28, 020 F8 ) BITHEEEREHS £,

The light pole should be perpendicular to the ground.
KT S HERFER,

The right is reserved to change specifications without prior notification or public announcement.

20f3

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / %2 %% {& Fi5% BA

Recommended Installation Procedure / #F R332

2. Put the power Cable into bracket Tighten fixture with 3-M8 screw .
Then put bracket into the pole and tighten with 5-M8 screw.
BT LBIREFNTAHE, B 4mm IARARFHIE KRB L
i) 3-M8*12 R E ST 54Tk V BVEHE, BEIEENTH, 4
A 5-M8*8 Tk X EBETEIE FEHo

I ¢y
Make sure the "house" tag faces the building! T]
WR “BF” REEMIER!

3. Open the access door with the triangle key and connect the
220V power supply.
AZAARITITERET, &E#E 220V BiF,

This step must be performed by professional personnel to avoid
electric shock.

ESBREHEWANRRE, UEREMBRER,

Brown Yellow / Green Blue

The right is reserved to change specifications without prior notification or public announcement. 30of3

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



